Priloha 8.1: K1- Znojemska x Hradebni (11/523x11/602) - Dynamické fizeni (preference MHD)

Logické podminky:
C Begin ) Extend_Stg1: (Headway( DVA ) <= MAX_GAP) OR (Headway(DVC ) <= MAX_GAP)
! Extend_Stg2: Headway( DVE ) <= MAX_GAP
T roe( 1) =1 Extend_Stg3: (Headway( DVB ) <= MAX_GAP) OR (Occupancy( DPA2 ) > 0) OR (Occupancy( DPA1) > 0)
i Extend_Stg4: Headway( DVF ) <= MAX_GAP

Tabulka parametr(:

MAX_STG1-29s
MAX_STG2-19s
MAX_STG3-18s
MAX_STG4 -21s

cycSecond := cycSecond + 1 cycSecond := 1

MIN_STG1 -25s
MIN_STG2 -15s
MIN_STG3 -12s
MIN_STG4 -18s

SetT( cycSecond )

]

< Detection( VA_Bus ) >= 1 >—>< Stage_active( 4 )

MAX_GAP -3s

A J
Stage_active( 2)

A J
Stage_active( 3)

Y

StgT(4) > MIN_STG4

D

Interstage( 4 , 1); Interstage_length( 4 ,

N

- StgT(2) > MIN_STG2

D

Interstage( 2, 1); Interstage_length( 2,

N

< Detection( VC_Bus ) >= 1

- StgT(3) > MIN_STG3

Interstage( 3, 1); Interstage_length( 3,

N

< Detection( VB_Bus ) >= 1

< Detection( VD_Bus ) >= 1

< Any_interstage_active

< Stage_active( 1)

Stage 1
>—>< Stage_active( 4 ) > StgT(4) > MIN_STG4 >—> Interstage( 4 , 2 ); Interstage_length( 4,2 )
A J
Stage_active( 3) > StgT(3) > MIN_STG3 Interstage( 3, 2 ); Interstage_length( 3,2 )
A J
Stage_active( 1) > StgT(1) > MIN_STG1 Interstage( 1, 2 ); Interstage_length( 1,2)
Stage 2
>—>< Stage_active( 4 ) > StgT(4) > MIN_STG4 >—> Interstage( 4 , 3 ); Interstage_length( 4, 3)
A J
Stage_active( 2) > StgT(2) > MIN_STG2 Interstage( 2, 3 ); Interstage_length( 2, 3)
A J
Stage_active( 1) > StgT(1) > MIN_STG1 Interstage( 1, 3 ); Interstage_length( 1, 3)
Stage 3
>—>< Stage_active( 1) > StgT(1) > MIN_STG1 >—> Interstage( 1, 4 ); Interstage_length( 1,4 )
A J
Stage_active( 2) > StgT(2) > MIN_STG2 Interstage( 2, 4 ); Interstage_length( 2,4 )
A J
Stage_active( 3) > StgT(3) > MIN_STG3 Interstage( 3 , 4 ); Interstage_length( 3,4 )
Stage 4
Detector VA_Bus
> StgT(1) > MIN_STG1 >—>< StgT(1) < MAX_STG1 >—>< Extend_Stg1
Interstage( 1, 2 ); Interstage_length( 1,2)
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Detector VC_Bus N

Stage_active( 2) - StgT(2) > MIN_STG2 >—>< StgT(2) < MAX_STG2 >—>< Extend_Stg2 -

]

Interstage( 2, 3 ); Interstage_length( 2, 3)

Detector VB_Bus N

Stage_active( 3) - StgT(3) > MIN_STG3 >—>< StgT(3) < MAX_STG3 >—>< Extend_Stg3 -

]

Interstage( 3 , 4 ); Interstage_length( 3,4 )

Detector VD_Bus N

Stage_active( 4 ) - StgT(4) > MIN_STG4 >—>< StgT(4) < MAX_STG4 >—>< Extend_Stg4 -

]

Interstage( 4, 1); Interstage_length( 4, 1)

End >




